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N = 0l & At & Ml A

2018 =& 1 3 LA LAZ ~ AAMH

2AMN: ESH
M HSY FOHAX UWERKIT 2=
ool 339 dIZAHA He (Sl & &)

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
ERgsil 277,190 264,690 12,500
HSH WX HWERIDA *= 223,830 211,330 12,500
29 dIMHIA 235 223,830 211,330 12,500
HEAMHIA 2229 61,610 61,110 500
201 Let24E] 60,407 59,907 500
02 2324l 52,740 52,240 500
O3s=ad sX2el 500 0 500
FolEe MEEd Hd 47,220 35,220 12,000
101 Q124 H] 8,000 4,500 3,500
04 JIZHHZ2Z2XNSE+ 8,000 4,500 3,500
OHES AMBE gz Z22Zx4 2Y 3,500 0 3,500
206 M= Hl 14,500 6,000 8,500
01 M= 4l 14,500 6,000 8,500
OS2 M3 Mgz 224 M 8,500 0 8,500
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N = 0l & At & Ml A
018 = £ 135 YN AAG ~ XA
SN 2o
HE: 29 HONX WEAD 25
Sl S BHAHA L3 (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
oo 452,109 477,063 24,954
2o FOIXA WERND 25 390, 103 383,057 2,046
Sop #IAHA 23 390, 103 388,057 2,046
HYAMHIA Bel2Y 140,055 132,055 8,000
401 Al I 2 S O 8,000 0 8,000
01 A&l 8,000 0 8,000
OzEsI RxB2 8,000 0 8,000
Fomo MEHY A 71,326 83,780 A 12,454
101 9121 bl 10,400 5,400 5,000
04 IAH2EZTSES 10,400 5,400 5,000
SHS BYSH YA Z4 Ry 5,000 0 5,000
201 YEr2 | 25,546 60,000 34,454
03 A2t 15,546 50,000 34,454
O=Xs BAS LHiY =7 546 35,000 34,454
206 T Z 7,000 2,000 5,000
01 2 bl 7,000 2,000 5,000
O=¥s ZYEH AT X4 H27Y 5,000 0 5,000
401 A4l 2 = O | 24,000 2,000 2,000
01 Al 24,000 12,000 2,000
OfAB+2 M 3,000 0 3,000
OR4ZE FeI 9,000 0 9,000
THoh Ol ol of 2 86,000 80,000 6,000
201 et | 6,000 0 6,000
01 AL 22lH] 6,000 0 6,000
OMaH oI ¥ =2 2= 6,000 0 6,000
nessy 29 62,722 62,222 500
405 XH&t 3 S b 1,000 500 500
01 MU SEHSH 1,000 500 500
Oxessg ABXs HAI 7 1,000 500 500
HY2AFY (2YH) 62,006 89,006 £27,000
EET 62,006 89,006 £27,000
2o Jl= 2| 62,006 89,006 A27,000
201 Yer2 | 16,886 43,886 A27,000
01 AFR 22l t] 3,886 40,886 £27,000
oSy e (S ) 3,000 30,000 27,000
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N & 0l & Av S Z M A
2018HE 22 15 YWEI YA ~ XA
SN HA
M 8440 BOUA UERD 75
SHol: 4P BIMNHIA 25 CER-ED
SA - () - NRANY - BES 0 &t 7= HRE2
g+ 369,287 368,287 1,000
g8 FHIX UWER/KIA 25 314,783 313,783 1,000
d+0 dIZ M A 25 314,783 313,783 1,000
HEAMHIA 2229 74,815 73,815 1,000
201 Let24E] 71,492 70,492 1,000
02 2324l 55,892 54,892 1,000
O3s=ad sX2el 1,000 0 1,000
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= A
N = 0 &8 AFH Y & A AN
2018 & =& 1 3 LU Lags ~ XAH
S @48
M 240 FOHLUX HWERKZA *=
CHelr @401 #EAHIA A3 (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
24H 571,573 545,573 26,000
Q40 HHUX WERIT 2= 500,381 474,381 26,000
Q40 HHAHIA 235 500,381 474,381 26,000
=olmol MEsr i M 139,462 113,462 26,000
101 1244 61,262 56,262 5,000
04 JIZtRIR2XSE2 61,262 56,262 5,000
O Q20 XN o 5,000 0 5,000
201 LBt 29,280 11,280 18,000
01 AF2 22| H 19,680 9,680 10,000
O @40 HYUXH =y Axtz 7,000 0 7,000
O 2= EXg 2 22l 29 3,000 0 3,000
02 222 9,600 1,600 8,000
O ==& 29 14 1,000 0 1,000
O 24 23 2| 24 7,000 0 7,000
206 24l 23,000 20,000 3,000
01 MEHl 23,000 20,000 3,000
O Q40 HxH M 7¢ 3,000 0 3,000
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N & 0l & Av S Z M A
20188 = =3 1 3] LESIH LA ~ AAMH
AN HAHH
M M FOHAUX WERZD 2=
ol ANE BIMHIA 2t CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F Hl DS 2
SAHH 296,304 295,296 1,008
AN FHIX UWERKIA 2= 240,800 239,792 1,008
HAH HBMHA 25 240,800 239,792 1,008
HEAMHIA 2229 75,302 74,294 1,008
101 @14l 1,808 1,200 608
04 JI2ZtHZ22HEE =+ 1,808 1,200 608
OHEA 2| 8 60,2403 x1H »302 1,808 1,200 608
201 L Er2 A | 71,494 71,094 400
02 =24l 58,694 58,294 400
OF= =D/ PR y= = 0 100 A 100
O3satzaaze 500 0 500

- 235 -




N & o & AF & H Al A
2018 E X 13 YA YAES ~ XA
SN BED
o BEW HONK UESD 2=
ol BED BBAHIA 23 (sl &2)
SA-FH S (3AH) - HRAY - B2 O Ak o8 18 HRE2
=S 452,458 448,458 4,000
2EH FOHAX WENID 2= 375,134 371,134 4,000
24EH HZIAMH A ZF 375,134 371,134 4,000
HEAMHIA 2229 106,494 105,494 1,000
201 L2l 103,284 102,284 1,000
02 2324l 83,476 82,476 1,000
Ozssdd 24 1,000 0 1,000
THoH ol =ol==& oiZ 105,000 105,000 0
401 AIEBIZL 28I 100,000 100,000 0
01 A& Hl 98,920 98,920 0
OZE 4s0ts =2 M 0 4,946 AN 4,946
ORE OIS SREF(2I|HY) 4,946 0 4,946
OmE DAiE HH Yl 0 9,892 ~9,892
OZ&E NHUlts s2EH(RIIHYE) 9,892 0 9,892
239y 2el2dg 43,000 40,000 3,000
405 TtobFH S 8,000 5,000 3,000
01 AL EFFH S 8,000 5,000 3,000
O=23to & g2 =25+< 3,000 0 3,000
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>
N & 0l & Av S Z M A
20188 = =3 1 3] LESIH LA ~ AAMH
2N €Xd
M dxH HFHAX WEHIT ==
Sol: GXIB BIMHIA 2 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
gXe 281,796 280,796 1,000
SX¢ FHUX WERID *= 226,292 225,292 1,000
SXH dEAMHA 235 226,292 225,292 1,000
HEAMHIA 2229 78,212 77,212 1,000
201 Let24E] 68,612 67,612 1,000
02 2324l 58,612 57,612 1,000
O3s=ad 29 14 1,000 0 1,000
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N & 0l & Av S Z M A
2018AE = 18 LBHSIH YAMS ~ XIAE
SN KAS
HH: AAE HOXX WEKD 75
SHol RIAY BEAHIA 23 (el @ e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
Xl At 320, 122 299,622 20,500
RAS HOHXX WEHD PE 266,618 246,118 20,500
TIAG #FANHIA 25 266,618 246,118 20,500
HYMHIA 2E2Y 91,598 91,098 500
201 Yot Y| 70,275 69,775 500
02 222l 58, 100 57,600 500
OZEs=EA 29 500 0 500
Fopipo MEsy HA 56,020 36,020 20,000
101 Q121 bl 23,500 13,500 10,000
04 JIAHH2ENSE S 23,500 13,500 10,000
OQ4+dY IARA BAXY 2X HEXY
ol el 10,000 0 10,000
401 A& HI L 2Ol 22,000 12,000 10,000
01 Al H 22,000 12,000 10,000
OQ4+dY IARA BAXY 2X HEXY 10,000 0 10,000
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